Unit 3 Lecture 2 Slide 5


To resolve the relationship of the previous slide, it is necessary to find a new intersection entity.  In this case, we have called this new entity enrollment.  The attributes are date enrolled, date completed and grade.  Notice that the attribute names of this new entity answer the questions that we posed previously.  In addition, there are two new relationships.  One of them is a one1:M relationship called "enrolled in" and one N:M relationship called "taken by".  Since the new N:M relationship also needs to be resolved this process is repeated again.  We have not resolved this N:M relationship and left it as an exercise for the student.

